FACTORISATION OF
ALGEBRAIC EXPRESSIONS 7

E

Avecsr.

Factorise the following
1. 12¢x- 30 1. 15x - 5y 3. 9m? + BIm?

4, 36k - S4xly? S, 16min — 20mn2 + 2mn 6. - 6 - 100+ 1272

'z + 5)+ Nz + 5) 8. ylp -3) +0ip - 3) 9.2 -9 -3 -9
10. Sa¥(t - p) - 10(t« p 1L 7alp +q) - bp + q) 12, (x + 2P - 4x - 8y
13. Ip+6g-Hp+ 2P 14, ablp - 1) - aclp - 1) 15, =(x + yP - t(x + y)

16. at + bt + be + ac 178 -%+a-9 18, (a-b) (25 +3) + (a - B) (2b - 3)
19. 12ab - 263 + 24ac - 4bc 20, 18(2x - 3y - 6(3y - 2x) 11, 14ab? - 49a7b2 — Ta?P
12, a’b + 3ab? - 6a?b 13, 1263 — 6077 24, ab - ac - db + de

5 syt b
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— e i D

:QEE 1, l2x-30 = 6 (2x-5)

2. 1522851 = 5(3%-Y)

am*y eim® = qm* (1 +9m)

e

WXy -5aryz 1074 (2 -5

L

)6 mn 20m0"2mb = 2mn (ém-)o
= ~Jon +1)

Jos

—b—lot tiot"= —2(B+5t —§tY)
F z2(z48) +F(z245) = (2+5) (2+7F)
B Yz (P-2) 24P = (P3)( j2+% )
= PV (zr),
Book-8 (Mathemahes Suceeqs)




> " e - "y _I*"'-"l
AR T L
L
ey ¥ af" ™ i Tgye s by " P
nre me R AR OTAMARRL
e i o s
- .

9. 2(’.?4}'%5(»""&) = (,r?-fz)@{;?-i,)-z:_j

—

= |p-2) (P22 -3)

lo. 54 (1-p) ~lo(t-p) = 5 (¢t-P) (2"L)
N a(P+z) -b(Pts) = (p+s)(a-b)

2 [”*13)1‘— 4% -—GZ_ = LJf-r’iEt)m,.. 4{#4-13)
o L Pl S

12. 3p+ 6’1—-46}?1*:5_)&”
-3 P429) - 4 (b))

= (bkt22) (2-4(P*T22)
= (pt+2g)(3-4b-0L)

14, ab(p-1) —ae (b-1)
= (P (4b-ac)
—~ a Ch4) (b9



15, o s
15 Z(%ty) — i'fx+;t.)_-_- L’”W[ziﬂz)— f)

= (x+}) (zx +1}_.~ ¢)
_f_ﬁ- a{~rﬁ{-+££-r::rf_:._ {-Cd-f-b_)—a-c-(b+qr)

= (@19 (t+<)

13 0% 24%4-9 -~ Pa-a) #)(7-5)
= (39 (@"+)

18 (@-b)(3b+2) + (a-b)(16-3)

= -4 (2643 +26-3)

= @4)(4b) = gab-4u7
= 4blat) .
7 B
19. 1206 - 26" 4244¢ —4be.

= 2b(6a—b)+4c(ba-b)
= (6a-5) (ab t4c)

= lféﬁrb)[b-flcl)‘
2o lB{lﬂ-:zzf‘,é{g} i
>F )
- 1a( 2 r:'.‘;_) +6 [ —J.}_)
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21, 144% - 490> _ 342>

= 2a% (2-7a-b)
22. a*b+3ab"— ga'b =ab(o+3b - &)
L '
3y gty nsy M y-5n)

24. oab-ac -dbide = ﬁ{{;q.).udfé{.)
= (b-¢)(q-o)

a?—' ?LT" tiZz h:rzl‘..l- '2-3

= g (n+Z)+ i1'[“*'z)

_ waz) (447D




Acwcsers,

Factorise the following :

1 22+ dxy + 42 2 930z + 2582 3. 4? — 28x + 49
4.;1+1+;’f 5. :'-h;‘- 6. 4 + 12xp + 93
7. 81m? ~ 108mn + I6w? 8. 36at + 24a%5° + abd 9. 36a? + 60a + 25
10. 92 + 24pt + 1692 1. xh? + pi2 + 2y I12. | - B + 16a?
TR W 14, 4m® + dm? + | 15, 2525 - 1027 + |
3p  36p°
16. Omt— 12mnlal + 4t 17, ma’a‘—f»i;';; 18, P - Gpgt + 98
L 0 il
19, 1+ 100 + 2882 B fLELWE 2. 5 1+£1-
2 1 2 |
11. l"l'-;'l'F 3. 9¥‘+5+m 4. Ihz—]ﬂl}'*?y:

15, -Iily’;" —%x’y’:’ +%y*;"' 26. 16p" - 40p2g? + 2547 27, Bl + 72032 + 16¢4
8. 16c%2 - 48 + 368y 29, ;lﬁ-z‘—§=+%:’ 30. 81 - 1082p" + 36p°
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e e = TN

Sob 1. Xtamypayd " 2axany o™
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n_ e B
2. 9-B80Z 4252 = B 2r3XEZ + (52

= (3-52)
3 dl-xq.'_:.&:xf"?*? = Ci_:-'t_)q: 2 02X%F + 7
= ':LH--'})L
Lk, % o 2+ ;:71_ T L SRS ",E“ & C_}_Ji#“:

=
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6. 441:!- !1?‘3 1“?711: [zij.f.g;zx)t 5;‘, +(33’/)%

—
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= (2o & ‘33}

L
F @l m = JeBmn +35n¢‘_;' (-f}'r?jq:ﬂ X9y €n +(6»)

2 -
= [9m—6n) = ﬁ'('am--erL

8. 344% 2 9 o =
S B4 2,08 440 (64%)+2x &ﬂi:zba(‘ﬂﬁy
9, \ 24—
i (6#1".}-3.&"1*)
- B
= 4(34"+5)
Ly
T 26471600 125 - (6a) Tk anbax< + <)

.
= (6a+5)

e 2
lo- Gt + 24pt +l6p" S F2otx 4 b + D

= (3t + )
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26, Jop?_
R P Qaﬁ | A +1$E4 (i—ﬁ)*-?fﬁ,b,‘% (-5.“.)

= Enb - 5‘27
4 .
A= VA L 8}27313#}43"‘_,. (459
= (9% 45

2.0 1513 43193+%Wg
& ¢J¢ 1.-(4.1..;2.1?.,&;:5??)

I

m‘*d"" (@) = 2x Sy )]
= axty™( 2-9%g)
29, ;’.;x"'... :zz+ 2z _.(—Jy*—irfxxiz fgr_)
= -2)"
so. 91— 8 €230 (549 gy EP°+leh?)™

= % 2
SO =) 5 (s e apy™



“1. #-4;,.1

R EEC s, %ﬂ"% 6 1}:*-%;
L7, A - e 8. 12+% - 2% 9. 43ab? - 20ac?

|10, -27a%? + 12232 11. ~49a° + 64ab? 12, -81x%° + 64xy
13, 16241 14, 16 - 625 15. 8121 - 2564
. 16, ¢~ 16mn* 17 R+ 2y + 2 - | 18. 1 -5% - 22 - 2 [yom)
-_1’., 9 -y + 2xy - 2% [HoTs) 20. 4.g2+1m+9b’—25:11|,11+2+:1,--1ﬁ;#
D S-er - 23, 162 - 9a2 —6ab - b? [nors)

4. 100 - 52 - p2 - 2y 82—y -x-y 26 4x? - 6xy + 2 - Yy

7. Bl(x + ) ~ 16(x - y) 28. 4(2¢ + JyP - N2 - )
29. Evaluate using identity :

() 36% - 402 (i) (1847 - (1.68 (i) (608)2 - (609)2
30. Factorise ; x® -y [Hint. = - 8 = (4 - (2] [nors]

o s o ol

N

Sof, & W-dp¥ o (3" ap)”

—t

Vsing the idantihy atd= (a4b8) (a-5 ) W}
3‘ - {a:ha—?g)(:-:-t@‘&_)

pie--25 = (%) -8 =(92+5)[72-5)

2.

0 Ly -
3. 3622547 (6) - (sP) = {E-Hs‘af)g's—u”.'g_j
4: 4-2¢ fl:: @,}11 (s f‘)L:. (245t (2~S¢)
S Bl 18 9a)" (20)
- _q.ﬂ 2< ( Q) /J

Vi

q‘”s')/ a-25)
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g .

j.

lo.

8 .2 <, o = 8
T - 2291 2 9 ‘“?-]

=[G (£y)7]
= LB fe(in-51))
e et e
= 6% [ @v*}
= bMare)goae)
t:.f"z.—-i.;;"‘i = 3z (4x=94%)
= sz[e@v’- zp”]
= 3z +EJ)CJH43)

45ab - 20ats Sa.( 9= 4cY)
= gaf @v'> @)
= a (3b)(36-9)

~27abr 4 !quq"n i -g.qq’{‘ﬂ)q'—" 4'{‘1)
= 30 (36 @9)")
= -3a (b +3c) (36-2C)



I ~89a°r64ab" = —a( 490" g0 i)

= -a [ (79)= @L)"]
= —a (14485) (F0-85)

L?_—_* -3!#% 9.;-6:;-? - . ? é g;xb'l.__ 69«)

= -ny [ (9xy) g
= (87748
1. f6x% ) . (432" e
= (4 xw)) ( 4;;'1..4)
- (df?fl-ﬂ) C@uf‘ -uf:]
= fax"e) () ()

M leytogos = (@3 - @"):

= (}J”'rr x4~ K)

= Wy ) ﬁ?’??m""‘ﬂ )
) 3 0D



5 eiz? agg 3

(92*)- (163>

= (92> +k1") (92 ey
= (924 ) fon - p))
- Cq,j‘:,, I%jf) (3z+4y) (324D
16t Jemin® _ () @»?»"f"
= ¢ ami) [ f?;c;.mqhv
- L‘f‘i:}- &-mqf-f) Lgf;'}:. [:umg)ﬂj
= (¢ gmi ) ( &r2rm) (t-2mm)
17 <z o) 2 i T
= (Mrga1)(r+g4)
B )-yoayz-2o ¢ V'#yz42)
=)~ L)
= +4+2) Ly-=)

M - Y3y gy =2 47)
ST (92 @y (o ya)



20, 4“‘?']"4*12444-«?51" % %
=285 Z = (20) +2x20x8 ) mb)l_@zj’”
5 [2arsb) . (52)*
= (2a0+3b+Sz)(20+3b-52)
21,  xa gL 7
2] 1—11__ - 167"~ x1'+ixxw;[-t +&)L.- &qu._
R 2.
= (?f*,{*) = (..#'?.jlﬂ
= pok o) (vt 44)
22

Lyl et o 4

22 7 - 65 +9-Z" = '3')1'-—:?3?3x3+31"~—@3%
= LF’B_ })LH @i’)m

; @9__5*;)”‘3:_3 &)

23, 198 pub— b2 o) - (9" bebrl)
- w0 e (a) s axsarbrb)
- {_4.::)%_- (24 -f-bll%
= @ rrary) (403170)
4. {oo -~ 2 ;:"L :LH'J, = Uﬂ)q"—- [ ?1:* x HEL)
= o) (ray)

":—Ll_a'!"”*?/‘) {]ﬂ*‘“ "":'.) '

ﬁ



25, Xy Lz o (xag JOg) - (vag)
= fer) (-4

2.6 . P 6703,..;- RN = 21{_2#-3?’)-*!(1#-33)

A

= (2%-3) ( 21 +4)

23 01O hLng’s (atra) tn )™
= [ 4= ][ tray) - 4.:1.33
2. E-‘-tmr V¥ +4m —43_’}[‘!# H;p-—d»—;—u;,j
= [Isea8 ) ( =x +13% )

28. 4{%&7)1'- c;rfmr-‘a}b)q; [z{u-r.mg)jjl (3L mf-};gjin

= {4#'1" ﬁ?*'f‘ ﬁif-?;)(#r?-s} ,_5#4_?3)
= ox-3p) (“2x 4)54)

9, U&-:g_ &#h#fa,.._- b - a+b) fﬂ-'é}]
(h 3~ do" = (36 t40) (B6-40)

= P x-4 =~ 304

() 068 =00 = (164 414) (184 16)

—_ 2D X.16:8

= 336

P s T



- 0 L
(i) (08) — (609) — {51:6-}-50*1’) (énﬂ#c‘;:ﬁ)
= |22 % -)

= -~ j2i?
30, xl.yB _ o 4
- l¥4+34) ‘,:._,{-’—g_av
= py?) (V-]
= (") () )
= eyt ) MDD

ISE 7.4

| Factorise :

f L2+ T+ 12 2. P +12p+35 3. @2+ 13g+ 42

| 4 P-6-16 5. & -19x+ 90 6 P+ 12y-45

. pr-lp+24 8. m2 + 3dmn — T2 9. @ = 10ab - 7567 [yors]
10. p? - 22p + 121 1. 7 + 40nz - 2252 [wors] 12, 9 -6y +)7 _

o 13, @ + abe - 156¢2 [yors) 14, £ - 9t - 36 18, Y2 - oz - 5622 [yors)

16 2V25 +11x+642 [uorg) 17, VBE +Tx+ 23 (or)

1.
Eﬁfv _1_-_ K+ FIuA) L = 11«+¢x+?.-1' =12
= X("44) +3(x+4)

-~

= CHR ) CUEND



z ﬁ"’”? +35 =Y 3Py Sy ras
= TP rs(yep)
= (Y43 (145)
3 A" 4136 440 = a"+ta+6a 4o
= alat+t) +6(a+z)
= (a+7) (a4¢)
4.  SpiE L ) P A BZ +27 |,
= z(z-8) +32(z-8)

= (z-8) (z+2)

= 2 N
H, % *"j‘ffd-?n - K- JoX~FNn +90
= % (A-)e) _9 (%-o)

= (o) (n-5)

m

6. "'fq".-}-ﬂ.}f 8.5 = ?1-+}1§? .-3.? —ipe
= YyHE) =2 (Y 4is)
= (y+9) (y-3)



7 F1;14P+24 = FEJZP-—EP;—-;Q

= P P-12)-2.( P-12)
= (p-J2) (P-2)

2 72 =
E. ™M $+34mh - Fap - m +3£hm-—2h?ﬂ#?.anq"

= M(m+36n)-2n (m +3én)

= (m43én) (m-an)

j ﬁﬁfﬂaba*}ﬁ" bj".g A% ISabt Sab—F5 &
= ala-isb)+sbla-Iss)
Jo. P=22P i) = Polip—NP +12]

= P(p-n) -1 (P-D)
= (P-1) (P

1. “13'1-?"4'““12*“1“51L:1?rq$¢5’ﬂyzﬂa’w?z~n§z&“
= %y [ty+482Z) ~SZ{M 4 45Z)
= ("}+452) (7} -52)
120 9-by+Y = G-nyayryto
= 3(2-%) -Y(3-Yv)

= EEY,



13. Q%L-i—aéi-—!ré ¢% aB Hi3ahe ~l2abt—ls ™
= ab(ab +)30) ~12-c(ab +i3c)
= (ab +13¢) (ab-129)

t5 )2t 34 -3¢

\l

fif}u tq:- ‘?E ""3-6

= (1) +3(+-12)
= [t (++2)
IS, Ea'}f-:tyz—vf?‘é?ﬂm: 7’%?‘- Bﬂy:z--l-?'*yz —55'&'1"

= y;{?z—ﬁ?ﬂ -!'?‘?f(?z'*g’})

= (Yz~8%) Yz +7*)

b
6. 247z +Ixg 62 = ?—ﬁxi’-f- BY +3x4 643

—

e ?—ﬁ‘t(_ﬂf-ri&)-r:a{uﬂr;_)
= [(x4+v3) [ MHix43)

I#. sZ? — %
s— 'f'??f‘lfs = Jan + x4 o f‘i'-ﬁ
:ﬁﬂ*(_x{-iﬁ)ab;(rd_g};)

= (t+25) (Goxt1)



. S——

1. Divide :
@ (% + 14x) + (x + 2) (i) (10a~35)+(2a-7)
(iii) xyz (4x + 10) + (2x + 5) (iv) 9aZb? (3x - 24) + 27ab (x - 2)

(v) $5ab (3a - 18) (2a - 6) + 22b (a - 6)
(vi) 0z (x + ) (p+2) E+x)+ Mx(y +2) (2 +x)

Sof. (] %, X (A 42.)
- W (A Flgx) 2 s e s
-+ "?r ) p G"frf-‘l/) - {:;!‘+2:) - 7‘?—
wi 5-(1#"'?
() (lea-35)+(2a-F)= — s
(1oe-35) e et

() S'xac;g, [4x+—]¢:)-§(g_x+§); ?”ﬁzﬁifmis'{h)
LEXHL)
= Q%?z_

(V) 944" (3x-24) T 2tab(n-3) . 74 (31-24

a
e E—

E?db('x.ﬁy

")_é;}...
B da X?JEx,Q) _ ak(r8)
T I T

(V) 55ab (24 ~18)(26-6) = 22.b (4-¢)

_.-'--._._-._-._-_.—\_‘_—-

22 b [,d.-g;)

il

- }S-i[ﬂ#‘h)‘



(Vi) 40??2-(?'*3_}{ F4z)(z+™*) -E—,’t:xij.,_-;.-_}zz,,.;.{)

4oryz (14 (y+2) (24

——

il

Jox (y4z) (Zz4x)

= 4’?‘3-(3‘-!'?)
I.Fmﬂrilnhanpmﬁmﬁnddividﬂhﬂnudnmwd
(i) 3 (7x* + 105x) + 21 (x + 5) (i) (a? - 2ab + b* - ety +{a-b-¢)
(i) 3 (4 - 256) + (& + 16) (iv) R Rl + )
(v) (* + 3x - 10) + (x + 5) (vi) 4ab (a? - 6a - 16) + 26 (a - 8)
(vii) 3-S5 -2+ Y-8
Sol. () B (#xwlos %) %20 (145)

31‘-}1_(__'“"_*_"’5_—)__ XL XH5)
- 2) (#+5) B CLEy.

(i (a7 2ab & b~ *) % (ab-0)
¢ .
(@Y ff__] (a-b+Q)(ab<)
(0b-0 (39
— (a-b+c¢)

() B(xt256) + (x4c)

—

)
'*3[ "*UU) JEH'LH{){'?TF':H,)

[ —H‘-’;) (n*414)

11

= 3 (x=16) .

P -



civ (x%s 227 +7%) 2 (x3¢)
G a
L E) e
TEMY T ooty
7 **32)
(V) (X% 3%x-)0) = (x+s)
(x*+3x~0) = {iﬂi‘*ﬂ'"”""{f)
r+g) 7 (X +g
« XUrs)—2(y45) P+5) (ra) =
T Ct9 T TOag @
(M) Gabla™és ~16) = 26 (a.g)
4ab (4264 —16)  4ab (4% baya, ~1¢)
- 24 f:ﬁ'-*-E') = 24 {-ﬁ‘ﬁ%)
Gak(4-2)q 1) 2ab(443)
- ,.'2_6. {'IF#'-%) : ,3 '

(vi) 35yt wy 204y 2 oy
5" (=53 -24)

"....-—

4 (4-8)
= ZHLIZERI0Y e
(-9 >
zS"}{_;-ﬁ)

F o



3. Divide : :
(i) (2 +4x - 21) by (x - 3) (i) (w? + 21m - 46) by (w - 2)
(i) ¥ - Ix+ 30 by x -5 (iv) 6 -3lx+35by2x- 7
(V) 22+ 1z +Sby 20 + | (vi) -5 -2x+24byx-4

S ) (Hax-21) 2 (x-3)
-
= (% Fx =32 -':r-!‘)? (14 (r-3)
(%=1 -3

= (¥+3)
(1) ma2Im ~46) = [Mm-2)

o2 me = 2m =46 ) Mimsrd) 30m413)

-

w (Mm-1) (™)

N (1-1.14-1.'5) {"1-,)

= +23)

(1) (2 1% 430) + (%-5)

(n* 6n -5y +30) (o-€) (n-5>
= e )
(-9 (%)

Q‘u) @11’-— 3In .;.55-/) + (ax-3)

(6x=21%-Jox +35)  [Bxl 2% —3) ~5 (-]

(27 %) - (27-2)
(2% -D ([ 3% =5) ‘
L~ = e
(2%~ - OB = ()

@



2. (2%4))
i B +5‘) +
cv) (2%

\

~-4)
- (o

2% 434) <

> ¥ B BY

(vi) (n°-5

;:H __.:z.)q.;.:}.;.r. — -
~4) x>




Factorise :
1. 2-xzt+txy-)= 2. 6ab — b2 + 12ac - 2bc 3, (x-2)Y +4x -8y
4.y - o1 - x) = 2 [nors] 5. (ax+ by + (bx -y 6 ab? + (a -1)b -1
7. 2-Ixf+x-3 I.ab&z+f}—x}'{n1+b3} 9. x2 — x(a + 2b) + 2ab[nors]
10. 16y — 4y 1. 3x - 48x 12. (3x - 4y - 252
13, (2c+ 3P 1 14, 16c% - (5a + bP 15, 100 - (x - 5P
. Evaluate :
' [i?{qus}l - (3958 (i) [11.1%1_1 : [11}3 B -
Ly
,.Sfj* __1_'_ s —*JEZ+I?.F?L::I(H-1)+?_{W_L)

—

= (x=-2) (n+y)

i

2. bab-b +l2ac—2bc = b(ba-b)+2c(ba—b)

— (ba-b) (b+2<)

Vo

!'.?fr?-;f)q? 4%53 = {,,,13;,";4 (x-2%)

= (2 (x-2414)
T xy(,}—x) - xrb-; 'yq,: g -r?tqg. s
=%y +wif}-r-"§)
= {?,k)[ ?--'rh'v
.2'. (c_.‘qix -+ b&)ﬂﬂ.}:(blf -*'1?3‘_).1‘7
= At b % pabny b5 oy 5"’*"‘5”7

— ﬁl‘l"l-fL_*. L.ij + 9’3’_{1{1.__!_?1)
= Oty (a'F6D)



6 ab +(e)b -l = abrab b~
= ab(b+)-(64)
= (b+1) (b))
E. %7 3nm+w~'3: = W Un-3) H(H-‘.'Q

= (-3) (%))

6. ablxry") — xy (a5
= a‘bx’l’-ra.éyl——’quﬂ- )47&1—-“
= aaxlﬂ?w“rmb‘;q'—"“)f—
= ax (bx-ag) 4 by [ ay-b1)
= ax (bn-ay) - by (“"W
= tex-ay) (a%-Fy)
9. L= Nlapab) +2ab
:'ﬂ'—*ﬂ“""mx“'m

- 'K.'Ufﬂ'ﬂ.} o '}b{,‘h’-—ﬂ)
= (A-a)(n-2&)

e J6y”-- 4y = ay( A—Yq‘-— 1)
= Ay [:G’f)m"ﬂf']
7 4y (2y+1) (Y )

| p——



N, B 48% = wx(x-16)

= 5% [_L?t??t @)

= an (15 4) (*'=4)
_ e (% 4) (=3

- oy (XT4) (1 +72) (¢-2)

.. -
12, (ax-4y) —28Z = (3%-4Y) - (52)

- Lg,ﬁ —-#3'.#'5':){3”' #‘? #5.:)

el
12, (27 43Y) - - @r“ﬁ’?ﬂ/}{”‘*%'i)

;q” 1__-__ - N
e B (Gl g™ (Sasn)™”
= &ﬁffﬂfﬁ)@t—-ﬁ—&)

.
E‘ |eo ,(H—-Sj = da)ﬂ”____ {*"Sj%

.:uﬂ' *"!"3{-—9 f}a.—-ﬂ-,ls)
= lx+g) (15-%)

£ ) o) @1)'= (49439 (0o53) - oy,
. L10) = (29) = [14+2.9) (13.6-2.2)

foop

e 1974
= 3),.



,f?i MULTIPLE CHOICE QUESTIONS |

e
Tick (+) the correct aptlon :

1. On factorising ax + by + hx + ay, we gel

ot e+ b) (b)) (x4 p)t(arh) () (xra)y+h) (d) (xta)r(y+h)
3, ax + by — ay - bx is written as :

oy la-br-y» )@=y (@) (@t bty (d) (a- bx +y)
1, On factorising dabe + 9abic + 2label, we get

(a) abefa + 3b + Tc) (b) 3abefa + b+ ¢) (c) Hubc[a+3ﬁ+c}&ﬁl')’.l{'bc[n+3b+ Te)
4. 2% - 144x is equivalent to :

@ @+ 120~ 12) LB HE - 12+ 12) () xtx + 122 (d) x2x + 12)x - 12)
&, On factorising (x — y)* + 4xy — 22, we get

tyta)ls +y-1) (b) (x—y-z)x +y-2)
(c) x—y+a)x +y-2) (d) mone of these -
6. 1 +a+ b+ abcan be written as :
' (a) a(b + 1) (b) bla + 17 seyta+ b+ 1) () (@t 1B+ 1)

7. 2xy + 5x + 2y + 5 can be written as :
(a) (x + 1)y + 3) () (x+ 12y +5) (6) (x~ D@y +5) LT+ 1X2y +5)
#. On factoriging 12ab ~ 8a - 6 + 9b, we get
da + 3NI6-2) (b)) (4a - INIb+ 2) (c) (da — INIb - 2) (d) (3a + 425 - 2)
9, ~36 + 4p? is same as :
@WEtHE-H O rHE- B HprNE-) @ 4pprE-3)

10, x2 4 4x 12 can be factorised as :
\,wﬂtzuﬂﬁa (b) (x - 3Nx + 4) (e) (x+2)x-6) (d) (x - 2)x - 6)

_j:'vn_u_i,usanqgesnms
! Sameer and Balwant are very good friends. They study in the same class. Sameer always

_ completes his homework, while Balwant takes a casual approach towards it. One day they got
their homework as below :

Factorise | 32 — 24¢ + 36
. Sameer's answer was 3(x ~ 2)(x ~ 6) and Balwant's answer was (x - 2)(x + 6).
L (s) Whoss aneweria carrect? Veriy it by faciorising the given expression.
& (b) Here, which value is depicted by Sameer?

(e) Which values are missing in Balwam?

Saf, . o B - Ay

-’__ff (9) BNT24AN D6 3(1fﬂ,x+|'1«j
= o ( W= g% - +12.)

= 30(n-6)n)

So, Sameexls Ansoer (s Corvecst

7 i,



3 :

Write T for true and F for false statements :
i Iﬂﬂ’#+33ﬂbthHlﬂd{n+3}
I.I}nﬂividlug{n’~b‘}by{n+bj,w|u{n—b}.
1;_—,-+a.b+n;.-+hmheﬁmnind-ﬁ+ﬂ{ﬂ+5]'
4.;[:+;]+1{;+y}:ubeﬁ¢hﬂnd-h+yj{r+31
!.Dnﬂiﬂ'iuﬂan¢3+l4iby?ljﬂ+2Lﬂﬁl.
ﬁ.nndivhﬁn;n&hzsby{aﬁs;.mguu—ﬂ

7. If we divide (x2 + 2 + ;l;lbsr(ﬂij.mnu( —-!*)uqunﬂn

x x
H-W-IWMHWIHHﬁw—r] .
9.x+zny+1ty+llmhm;uundutr+lll[.t+2ﬂ
Iﬂ.x’+:-1mhﬂﬂtﬂuuﬁr—l}’.

WEE R S el s e —— e




